USME

QUESTION PAPERS

LEMENTARY EXAMINATION
FEBRUARY-2020

- 'supp

MBA (Business Analytics), BBA ang
BA (H) ECONOMICS

1°,3 & 5t SEMESTER

e
SIS

****************#*****f’ff’fiﬁ e




(USME)

QUESTION PAPERS FOR SUPPLEMENTARY EXAMINATION,
FEBRUARY 2020
MBA (Business Communication) SEM- 1 & 1l\
BBA & BA (H) ECONOMICS SEMESTER : 1, 111 & V

INDEX
NAME OF THE COURSE SUBJECT | SEM-I | SEM-IIl
CODE
Master of Business Analytics MB
FBE
Bachelor of Business Administration | BBA
I? B.A.(Hon) Economics BA

| SEM-v |

‘?age no. \ Page no.



— 2.0 —

Supplementary Examination 2019-20

Course: BBA . A
Ii}lbject: Principles of Management 2@:‘0820 . ]‘]St 10
aximum Marks: 75 Marks - Subject code: 101
- S Maximum Time: 180 minutes

All questions are compulsory and carry equal Marks.

Q.1) Discuss the followiug techniques of Scientific Work Study: (Do Any Three)
{a) Time Study
(b) Motion Study
(c) Fatigue Stédy
(d) Method Study
(e) Simplification and standardization of work

Q.2) (@) Explain in detail the Technique of Functional Foremanship? Also expiain the

principle violated by the same.

(b) Explain the qualities of a good leader? Do the qualities alone ensure leadership success?
Q.3) (@) What is Motivation? Explain the need and importance of motivation for an employee
in an organization? : :

(b) What is a divisional structure? Discuss its advantages and limitations. Also mention that
in what kind of organizations divisional structure shall be suitable.
Q.4) (2) Which of the Henri Fayol’s principles do you find relevant in organizations today.

Explain using examples.
agément in the planning process?

(b) What are the steps taken by man.
the importance of non-

ifferent types of communication? Explain
levant examples?

Q.5) (z) What are the d
verbal communication giving re

rganization support the formal organization? Explain giving relevant

(b) How does informal o
examples.
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Total No. of Pages: 2 .

First Semester BBA |

SUPPLEMENTARY
b ' EXAMINAT
aper Code: BBA102 p o A
aper Title: Business Mathematics
Time: 3:00 Hours . o
Max Marks: 75

_General Instructions:

\ % questlons Out Of seven P
) qllestions and queStiOH NO 7 iS
X . com UISOI Y.
2; Questlon 7 Contalns ﬁve pal ts and eaCh part iS Of three marks '
3 EaCh i i : IT
queshon from one tO S1X Contains two parts. AH QuestiOIlS ca Y equal

fifteen (7.5 X 2) marks each. \

=100—2¢ .find the marginal revenue

Q.1(a) A Monopolist demand curve is given by p
verage revenue and

function. Find the relationship between the slopes ofthe a

marginal revenue curves.

. dy . llogx
Q.1(b) Find — where y =
dx Jx

g Gauss-Jordan elimination method.

Q.2(a) Solve the following system of equations usin
x+2y+2z=1, x+3z=11, 2x-3y=1

ind the numbers if the sum of their squares is to be

Q.2(b) The sum of two numbers is 24.F

minimum.

n G.pis35and their product is 1000,find the

Q.3(a) The sum of three consecutive terms i
.terms.
imization problem of maxi_mization type using Lagr

angian

Q.3(b) Solve the following opt
Method. . ,
+6x, —2X; — 2x,X, = 2%,

Max f(X) = 4%
+x, =20

subject t0 X,
X, %Xy 2 0



t-the function
: y mm t abOU
Q.4(a) Draw the graph of the following function and also €0
f(x)=x when x>0
=0 when x=0
=-x whenx <0
" .« given bY
Q.4(b) Find average cost (A.C) if marginal cost (M.C) is 8! -
M.C=25x+15x’—3xJ e total cOSt when x=02N x =100.
Where x denotes output produced- Also find the )
ucer’s surplus with cuitable examples
6—x" and

Q.5(a) Explain consumer’s surplus and prod |
\ petition 2ré y=1
er’s surplus. an

denotes price.

d producer’s

The demand and supply functions u
=2x° ' ind the market price,
y=2x"+4 respectively. Fin ied. ¥

surplus. Where x denotes quantity dema
nt with the input-

Q.5(b)

output matrix.

Q.6(a) Find the demand vector whjch is consiste )
0203 02 _ |2
4=040.1 0.2 ‘And the output vector X =21
0.1.0.3 0.2 18

152:3

d.6(b) Find the rank p(A) of the matrix A= 345

R ey (456

Q.7  Define the following definition with example: -

(i) Leontief matrix ;

(ii) Depreciation lapse schedule (DLS)

(iii) Function with suitable examples

(iv) Linear dependence, independence and linear combination of vectors
(v) Define the condition of the consistency of homogeneous and non-homogenous

system of Linear equations.
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FIRST SEMESTER BBA Program

Supplementary Examination February-2020

Title of Paper: Financial Accounting

Max. Marks : 75

Paper Code: BBA103

Time: 3:00 Hours
Attempt any five questions. Simple calculator is nllowed.

Ql. (a) Define Accounting. Differentiate between Accounting and Book-keeping. (6 marks)

(b). Explain the following: (Any three) (3 marls each)

i.  Business Entity Concept

ii.  Conservatism/Prudence Convention.
iii.  Dual Aspect Concept
iv.  Conventiori of Consistency

Q2. (a) On 1% January 2013, X Itd purchased a machine for Rs 58,000 and spent Rs 2,000 on its
installation. On 1* July 2013, additional machinery Rs 80,000 was purchased. On 1* July 2015,
the machine purchased on 1.1.2013 was sold forRs 28,600 and on the same date, a new machine
was purchase for Rs 1,00,000. Depreciation was provided annually on 31* December @20% on

WDV basis. Prepare machinery account for the period of 2013-2015. (10 marks)

(b) Define Depreciation. Explain the major causes of Depreciation. (5 marks)

Q3. Write short notes on following: (Any five) (3 marls each)

-Social Responsibility Accounting
Green Accounting

Compound Journal Entry
Methods of Depreciation

Right Shares

SEBI and its Functions.

me oo o
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" Q4. Mohan Limited issucd a prosp inviting npy

for 4,000 shares of Rs 100 each at a
premiuin of Rs 20 payable as follows:

On application Rs 20 per share

On Allotment Rs 50 per share (including premium)
On First and Final call Rs 50 per share
Applications were received for 5,000 shares and allotment made on pro-rala basis to the

applicauts 0f 4,600 shares, the remaining applications being rejected, money on applications was
adjusted on account of sums due on allotment.

Rohan to whom 360 shares were allotted, failed to

3 pay allotment money and call money, and his
shares were forfeited.

Komal, a holder of 200 shares failed to pay the call money, her shares were also forfeited. All

these shares were sold to Sohan as fully paid for Rs 80 per share. Show the journal entries in the
books of the Company. : (15 marks)

Q5. Prepare a Three-columnar Cash Book from the following transactions: (15 marks)

1-Aug |Opening Balance: Cash in hand Rs 10,250 and Cash at Bank Rs 13,750
3-Aug |Machinery purchased Rs 25,000.

S-Aug [Received a cheque from Mr Rohan Rs 4,500 paid into Bank.

4-Aug Sold goods to Sahil on credit for Rs 5,000,

8-Aug [Stationary Sold Rs 500.

9-Aug [Withdraw cash for personal use Rs 2,000.

9-Aug [Paid to Nikhil Rs 4,960, Discount allowed by him Rs 40, -

10-Aug |Cash withdrawn from Bank for office use Rs 2,500.

15-Aug |Purchased a car Rs 1,000.

19-Aug |Purchased goods from Sohan Rs 1,000 and allowed 10% trade discount.
20-Aug [Received a cheque for Rs 4,950 from Amit, which is deposited into bank.
21-Aug [Received a cheque from Rahul Rs 4,800. Allowed him discount Rs 200.
25-Aug |Furniture purchased from Rajat for Rs 25,000

27-Aug |Rent paid by cheque Rs 10,000
28-Aug {Income Tax paid Rs 2,000

Dalance sheet as on that date after making the necessary adjustments.

Particulars Amt (Dr.) Particularg IAmt (Cr.)l
Drawings 7,400 |Sales 87,100
Patents 5,000 |[Purchase Return 1,500
Purchases 42,000 [Capital 87,000
[Sales Return 1,300 |Sundry Creditors 7,600
IWages : 14,000 [Commniission 1,800
Power and Fuel 4,400 |12% Loan (on 1.7.2018) 10,000
Carriage on Sales 5,200
Carriage on Purchases| 2,800
iStock (01.01.2018) 6,500
Freehold Land 30,000
Machinery 20,000
Salaries . . { 18,000
Goodwill 14,000
General Expenses 6,700
Insurance i 1,700
\Sundry Debtory 15,000
Interest 1,000

195,000 195,000
Adjustments:

wA LN

. Stock on December 31,2018 was valued at Rs 13,500.

. Machinery is to be depreciated @10% and Patents@20%.

. Salaries are paid for 9 Months while wages are paid as 2 months in advance.
. Insurance include a premium of Rs 200 for 2019.

. Advance Commission amounted to Rs 300.

(15 marlas)
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END SEMESTER EXAMINATION- NOV/DEC 2019
(SUPPLEMENTARY EXAMINATION }= r‘b—ruav‘;j 2020

PAPER CODE: BBA 104

. A TITLE OF PAPER- B_USINESS.ECONOMICS
Time: 3:00 Hours

Max. Marks: 75 -

Instructions : Write neatlv and precisely thh diagrams (wherever asked)

Sectlon A: Attempt any 10 questions out of 11 Each question is of 7.5 marks

Q.1) What is the indifference curve ? Explain law of substitution, budget constraint and consumer
equilibrium using example and diagram ?

Q.2) What is the effect of income change on the equilibrium and the effect of price change on the
equilibrium using diagram?

Q.3) Consider a firm'that produces pizzas with capital and labor inputs. Define and contrast diminishing

returns and decreasing returns to scale. Explain why it is possnble to have diminishing returns for one
input and constant returns to scale for both inputs.

Q.4) Explain the fallacies in each of the following:

.a. Average costs are minimized when marginal costs are at their lowest poiht.

b. Becau_se.ﬁxed costs never change, average fixed cost is a constant for each level of output.
. Average cost is rising whenever'marginal cost is rising. £y -

d. The opportunity cost of dnllmg for onl ir Yosemite Park is zero because no firm produces anything
there.

e. Afirm minimizes costs when it spends the same amount on each input.

Q.5) Explam why MC cuts AC and AVC at their minimum values (i.e., the bottom of their U-shaped cost
curves).

Q.6) In his Findings of Fact in the Microsoft case, Judge Jackson wrote: “It is indicative of monopoly
power that Microsoft felt that it had substantial discretion in setting the price of its Windows S8
upgrade product (the operating system product it sells to existing users of Windows 95). A Microsoft
study from November 1997 reveals that the company could have. charged $49 for an upgrade to
Windows 98—there is-nc reason to believe tha* the 549 prlce would have been unprofitable—but the
study identifies $89 as'the revenue-maXimlzmg price. Microsoft thus opted for the higher price.” Explain
why these facts would indicate that Microsoft is not a perfect competitor. What further information
would be needed to prove Microsoft was a monopoly?
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Q5. (a) Explain the various layers of OSI model.
(b) Consider the following process with their burst time. Calculate average Wait;

average turnaround time using round robin scheduling with time quantum of 5 N

Process Burst time R
Pl 21
P2 3 |
P3 6 1
L P4 2 ]

Q6.(a) Differentiate between preemptive and non-preemptive CPU scheduling.
(b) Explain various applications of information technology. . AN

(c) Explain various types of computer.

Q7. (a) Explain the various steps for mail merge. :

(b) Differentiate between program and process. Explain various states of a process
the help of diagram. Also, explain various transitions. |

-END-



Course: BBA
Subject: Indian Economy
Maximum Marks: 75

Supplementa Examination - ! ‘:bé?‘flﬂ\’?_ =020
: Semester: I '

Subject code:GE005 j
Maximum Time: 3Hrs

. Instructions

o
-

1. Attempt any five questions
2. All questions carry equal marks

1.

" Economic Policy.
. Highlight the differences between De

Discuss in detail the three phases.of Green Revolution in India. (15)

What was the state of (i) Agriculture and (ii) Industries at the time of Indian” . (7.5 +7.5)
Independence? ' :

What is Universal Basic Income? Elaborate on the arguments both in favour

of against Universal Basic Income in India. ) .
What were the main thrust areas of the New Economic Policy? Highlight the: . (5+5+5).

Tax Reforms and Public Sector Policy Reforms undertaken in the New -

(5+10)

veloped countries and Developing (7.5+17.5)

Countries. Elaborate on the common characteristics of Developing Nations. :
Discuss the changes in Income Inequality in India between 1922-2015. : (15)

Making a distinction between Economic. Growth and Economic Development, (15)

- discusstwo alternative view of Economic Development.

menf Index (i) Vicious Circle of Poverty (5+5+5)

Short Notes on: (i) Human Develop
(ii) Factors affecting Agricultural Gro?vth

kkkk¥®
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SIPPLy
PPLI:MENTARY EXAMINATION
PAPER copyy BBA 20;

February 2020

_ t TITLE OF PAPER- Organizational Behavig,,
Time; 3:00 N, ourg .

Max. Marks. 75
Note: (i) Answer any FIVL questions, :

(i) Al questions carry equal marks,

\\

Q.1. What are ego states of our personality according to Transactiopg

Analysis? Elaborate Terminal Values and Instrumental values as pe;
Rokeach valye survey.

Q.2 Define Organisational Behaviour. Why is understanding
organisational Behaviour important for = managers in modemn day
organisations? What does Organisational behaviour study?

Q.3 Discuss Johari Window and its Quadrants. What conditions help an employee
get job satisfaction? What is the effect of Job satisfaction on an employee

i izations? Discuss the various
Q.4 Why do employees form groups in the organizati ,

s 2

i ' urces of
- Q.5 What is rmeant by organizational conflict? What are the so

organizational conflict? How is organizational conflict 'mal.laged‘? o
Q6. Define orgenizational culture'. How does organizational culture be:el
organization? HOW is organizational culture created, sustained and cl:anged. N
Q7.“Organizational change is generally resisted by employees. Dlscesst' "
reasons for employee resistance to organizational change. How do organizatio

. . . . (7
manage employee resistance to organizational change
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COURSE- MARKETING MANGEMENT
GUBIECT CODE: NBA202.
GUPPLEMENTARY EXAMINATION Feb- 202 0
MAX MARKS: 75

MAX TIME: 180 MIN

, ALL QUESTION ARE COMPULSORY
part-A CARRYING 3 QUESTIONS OF 10 MARIS EACH Part-B-CARRYING 2 QUESTIONS OF
15 MARKS EACH

Part-C CASE STUDY HAVING 3 QUESTIONS OF 1.5 MARKS

SECTION-A (10 Marks aach)

1. Why is new product development necessary? W

hat are the major options for adding new
product to an organization? Dlscuss all the stages o

f new product development briefly.

2. What |s product orlentation? How does product orientation degene
myopla?

rate into marketing
Describe each of the steps

in the strategic pianning process.

SECTION-B (15 Marks each)

3
4. (a) =~ Whydowe need §TP in marketlng?_: Differentiafe between demographic and behavioral '
Segmentation. Which of these bases of segmentation provides more insight? _
(b) As the marketing manager of newly launched - electric car from Hyundai, do the
posltlon!ng using STP approach.
S. (a) What factors influence the pricing declision? Explain using relevant example.
(b)

Explain the-factor that affects pricing of a new

product.
different from pricing an existing p(oduct.

How Is new product pricing
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SECTION-C (15 Marks)
Case Study (Compulsory)

William Wrigley Jr. came to Chicago from Philadelphia In the s
was a soap manufacturer, and at the start of his new business In Chicago, Mr. Wrlgley sold Wrigley's
Scourlng Soap. As an extra Incentive to merchants, Mr. Wrigley offered premiums, One of these

premlums was baking powder. When baking powder proved to be more popular than soap, he switched
to the baking powder business.

pring of 1891 at the age of 29, 1is father

Then in 1892, Mr. Wrigley got the idea of offering two packages of chewing gum with each can of baking
powder. At that time, there were at least a dozen chewing gum companles In the United States, but the
industry was relatively undeveloped. Mr. Wrigley decided that chewing gum had malor potential. His
first two brands were Lotta and Vassar. Wrigley's Juicy Frult gum and Spearmint were introduced a year
later. William Wrigley did most of the selling to the trade, but also showed an unusually high level of skill
for Inspiring enthusiasm in the people who worked with him. He was one of the pioneers In the use of
advertising to promote the sale of branded goods, using newspapers, magazines or outdoor posters to
promote the business. The company was also one of the first ma
benefits offered by radio to reach mass market audiences.

As the popularity of Wrigley's gum grew, the company began to expand manufacturing to support
company growth. The first factory established outside the United States was in Canada, followed by
expanslon Into Australia (1915), Great Britaln (1927) and New Zealand (1939). During the Second World
War, the new company president, Philip Wrigley, decided to support US troops but concurrently pratect
the reputation of the company's brands. Because of wartime rationing, Wrigley could not make enough
top-guality gum for everyone. So instead the company took Wrigley's Spearmint, Doublemint and Juicy
Fruit off the civilian market and sold the entire output of these brands to the US armed forces. During

this absence from the consumer market, the company ran the ‘Remember this wrapper’ advertising

campalgn. : #

William Wrigley succeeded his father, Philip, as president and CEO in 1961. During his 38-year tenu're,
production facilities were opened in new countrles. Currently the company operates 19-production
faciilties in Australia, Canada, China; France, Great Britain, India, Kenya, the Philippines, Poland, Russia,
Spain, Taiwan and the United States and Wrigley Is marketed in more than 180 countries. When sugar
free gums entered the US market, Wrigley launched their Extra brand which stil] remalns the leading
brand in this sector of the market.

Jor firms in the USA to exploit the '

ey Jr. took over as CEO In the 1ate 19904, his view was that further expansion of the
\:\ll\‘:\::‘hm”:::: r«ll",llgnlxsjn"ered limited prospects for sustaining revenue Bf::"“"' :‘!;‘:\mi:;:“::g‘
embarked on a major acqulsition programme of other confectionery (pnmrnm \j:n r:ducls resulted In a
to expand the product line. This decislon, plus continued growth for ¢ vewt r;g[ ium:rous lak’eovers, all of
virtual doubling of total global sales. The company had been th"n((;’;gl‘;w company was approached by
which were ».nrtrrv,',rully resisted by the Wrigley family. Then In 2 of the two corporations. After a
Mars, another privately owned business, whose CEO pmpfas'ed a mery,erJr dw.[g'mlned At tie reteer
r,am’;ﬂ assessment of the bid price for the company, William Wrigley Jr. -llllvv global market. Hence
offered the best financial prospects for the business in an increasingly c:m(;’:zt M;rch 2008, the Wrigley
he recommended to the Wrigley family that the Mars offer be accepte " lly run for many years by the
Company ceased to he the family-owned business that had been successfully
founder and then his descendants.

13. Case Questions:

. ; 4
(a) Elaborate on the market expansion and brand exp strategy of Wrigley. (4)

[ these
-(b) Critically analyze the promotion strategy adopted by Wrigley. Do you agree with the:

(a)
non-traditional approaches? Discuss. i
(c) Critically evaluate the decision of William Wrigley Jr. for merging with Mars. DISCU(S;,
the pros and cons of the decision.
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- 3rd Semester BBA
SUPPLEMENTARY EXAMINATION- Feb 2020
PAPER CODE: BBA-203 TITLE OF PAPER-Business Ethics and CSR
Time: 3:00 Hours Max. Marks: 75

1. Write short note on the followings: (5*5 =25 marks)
a) Unethical issues in HRM :
'b) Progress-and Transformation
| ic) Karma Yoga and detached 1nvolvement ,
d) Quality of work-life =~
e) Corporate Governance
2. Elaborate any five theory of Corporate Social Respon31b1hty with the

help of a suitable example. (10 Marks)
3. ‘Stakeholders define ethical dlrectlon and goals of a company’.

Critically evaluate the statement. o (10 Marks)
4. Tndian ethical values hold immense importance for contemporary

competitive and dynamic business world. Elaborate the statement.
(10 Marks)

5 Discuss the relevance of ethical issue intensity in corporate decision
making. (10 Marks)

6. What is workplace stress? D]SCUSS major workp]ace stressors and their

remedies. Also discuss the utility of ethical values in dealing with

stress at the workplace. (10 Marks)

W\
1

¢
o
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Il SEMESTER BBA
SUPPLEMENTARY EXAMINATION FEB 2020
PAPER CODE- BBA 204 MANAGEMENT ACCOUNTING

Time: 3:00 Hours Max. Marks : 75

Note : Q.1 is compulsory. Attempt any 4 out of the remaining
questions. '

All questions carry equal marks.

Q.1. Answer any two of the following-

a. “Management Accounting assists in corporate planning
process” Explain the statement.

._.._7/72___

b. Discuss the significance of responsibility accounting in
divisional performance measurement.

c. Write a short note on Zero base budgeting.

Q.2.The following are the details of a spare part of Sri Ram Mills-

1-1-2018 Opening Stock | Nil
1-1-2018 Purchases 100 units @3 30 per unit
15-1-2018 Issued for Consumption 50 units

1-2-201§ Purchases | ~ 200 units @ ¥ 40 per unit
15-2-2.018 Issued for consumption - 100 units
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20-2-2018 Issucd for Consumption 100 units

1-3-2018 DPurchases 150 units @ ¥ 50 per unit

Find out the value of stock as on 31-3-2018 if the company follows’

perpetual inventory method on FIFO basis and weighted Average .
basis.

Also calculate the closing stock using periodic method in both the
methods.

Q.3. A paint manufacturing company manufactures 400000 small
sized tins of spray paints per annum when it works at full normal
capacity. Its variable cost per unit of manufacturing and selling is as
follows:-

. Direct material
Direct Labour
Variable Manufacturing overheads
Variable Selling and administrative overheads

Blr o =&

Each unit (tin) of the product is sold for ¥ 50. The company is

experiencing difficulties in selling the product and at present is operating
at 25%capacity. The directors of the company are seriously considering
suspending the operations till the market picks up. '

Market research undertaken by the company reveals that in about a

year’s time, the sales will pick up and the company can comfortably
operate at 70% capacity. ‘

In the event of closure, the present fixed costs of ¥ 30 lakh per annum
could be reduced to ¥ 12 lakh.
The settlement cost of personnel not required would amount to ¥ 3 1a¥d1.

Additional cost of plant shutdown is estimated to be ¥ 50000. On




resuming operations, the expenditure connected with reopening after

shutdown is expected to be ¥ 100000,
Advice the company whether the plant should be shﬁtdown in the

current year.

Q.4. Jaypee Company’s projected proﬁt for the commg year is as

1. Compute the break-even point in u;nits.

follows;
‘ Total(Z ) Per Unit(Z )

Sales . , . 200000 | 20

Less: Variable Expenses - -120000 _12

Contribution Margin 180000 8

Less: Fixed Expenses 64000

Operating Income , 16000 1

Required ; : ' \N
Q)N

2. How many units must be sold to eém a pfoﬁt of ¥ 300007

3 Computc the contribution margin ratio. Usmg that ratio, compute
the additional profit that Jaypee would earn if sales were ¥ 25000

|

more than expected.

4. Suppose Jaypee would like to earn operating income equal to 20%
of sales revenue. How many units must be sold for this goal to be

|

realized?
5. For the projected level of sales, coninpute the margin of safety.

Q.5.The PikNik companly manufactures picnic tables. The company’s
southeastern plant has changed from a labour-intensive operation to a
robotics environment. As a result, management is considering changing

from a direct-labour based overhead rate to an activity based cost



o TTrTr sesw vunuwvner nas cnosen the followin
cost drivers for the factory o

g activity cost pools and
verhead:

Ak
2,00,000 y

d Mhee ¥ ;‘,,
S| e
25,000 | Number of set-ups 5,000 setl-ups

6,000 tests

48000 | Number of tests

2,50,000 | Machine Hours

Required-
(a)Compute the overhead rate for each cost driver.

(b)An order of 10 large picnic tables had the following requirements:
Number of purchase orders

Number of setups 25
Number of Product Tests 8
Machine Hours

150
How much overhead would be assigned to this order?

Q.6. The following data pertains to a shop. The owner has made the

following sales forecast for the first five months of the co'mling year.
January

% 4000000
February T 4500000
"March g 5500000
April Z 6000000

-

May

% 5000000

Other data are as follows:A-

a) Debtors and creditors balance at the beginning of the year are ¥ 30
lakh and ¥ 14 jakp respectively. The balances of other relevant

assets and liabilities are Cash Balance ¥ 7.5 lakh, Stock Z 51 lakh
.and accrued sales commission T 3.5 lakh.

b) 40% sales are on cash basis. Credit sales are collected in the
following month.

c) Cost of sales is 60% of sales.

d) The only other variable cost is 5% commission to sales agent. Sales
commission is paid in the month after it is earned, that is, the time-
lag is one month.

€) Stock is kept equal to sales requirements for the next two months’
budgeted sales

f) Trade creditors are paid in the month following purchases.
g) Fixed cost are ¥ 5 lakh per month, including ¥ 2 lakh depreciation.

You are required to prepare Cash Budget for each of the first three
months of the coming year.

-END-
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SEMESTER — TIL " Course BBA
SUPPLEMENTARY EXAMINATION  Feb 2020

PAPER CODE: G001  PAPER: Tax Planning
Time: 3:00Hours " Max. Marks : 75

Note : All questions cariy equal marks. -
All questions have internal choice.

“owned by the employer.

© Q.1 Nihal (age 44years) furnishes the following details of his salary

. income for the financial year 2018-19 -

Salary 10,000 p.im. Dearness-Allowance 1,000 p.m.
Entertainment allowance 1,000 p.m. ' _
Employer's and his own contribution to the recognized
provident fund is 10% of basic salary

Interest on the accumulated balance of recognized

provident fund @13% p.a. 26,000.
City Compensatory Allowance 100 p.m.

Medical Allowances 5,000 p.a.
He is provided with a ‘car of 1.8 ltrs. engine cubic
capacity rating by his employer. Its expenses excluding
driver's salary are met by him. The car is used for official
as well as for private purposes. '

He is also provided with an unfu

in Delhi for which is employer charge
fair rent of house is 324,000 per anoum.

mished accommodation
s 500 p.m. The
The house 1s

~gc —
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Compute his total taxable inco
“year 2019-20.

. X150 p.m., a watchman @ R200 p.m. and gardener @
. A50pm. - g

The employer has also. cngagcc\ for him a swee

per @

He has also been given a loan of ¥1,00,000 @ 7

: ‘ % p.a. on
1.5.2018 for cdnstruction of hig House. SBI rat

. ’ e for such
~ loan as on 1.4.3018 ig 129 pa, |

His income from other sources 13 3,80,000 ,
He invested %24,000 in National Savings Certificates
(VII Issue) ' |

me and tax liability for the assessment

.\ (15)

or

a) X owns two houses whicli he occupied for his own residence. He

submits the following particylars in respect of these houses for the
financial year 2018-19:;

Particulars | ‘ House 1 House 2
i - ) ®)
Municipal value _ 1,20,000 2,40,000
Fair rent R 1,50,000 ~2,70,000
Standard rent under Rent Conttol Act. 90,000 2,04,000
. Municipal tax paid . R 18,000 24,000 -

Amount-spent on repairs . | 12,000 30,000
Interest paid on loan taken for = : |

building the houses. ' 30,000 3,60,000

X also has income from interest on Government Securities amounting to
2,65,000 during the previous year. Both houses were constructed in

2009. X requests you to compute his total income in a manner which
minimises his incidence of tax.

(10)

b) Discuss the provisions of exemption for under section 54 with regard

to capital gain on sale of residential house property.

)
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Q.2 a) During the

plcvloun Yonr 2.018.19) Mv
i

following ci 11)1( al asscts ; Tamesn sens —
Sale f :

P1A occeds iziltu?:u tion: XZ?u?:itionF NX&X '2.'88(.) §n

€3] no €3] ('?)- ;
Land 4,00,00,000  18,50,000 1977 1,19,00,000
Gold 24,86,000  2;40,000 1980 . 10,26,000
Listed debenturés ~ 2,57,000  1,75,000 1975 . 1,62,400
Assuming that his business income is %1,46,000, determine his net
income for the assessment year 2019-20. : R (10)
b) Explain ilie deduction u/s 80C , (5)

or ‘
a) Ms Sukhnoor, who was an gimployee of X Ltd. in Delhi, has furnished .
the following particulars regirding his income for the fmancml year
ending 31.3.2019. o ' ' }

" 1. Salary 12,000 p.m.

2. Dearness Allowance 32,000 p.m.

3. House rent allowance ¥4,000 p.m. (rent actually pald 35, OOO p.m.)
4. He retired from service on 1.12.2018 after completing 25 years and 7\
months of service with the cornpany. The company paid the assessee:

(i) ¥1,50,000 on account of gratuity, ' '

)

(i) Pension @.%34,000 p.m., aind | : %

(iii) His average monthly salary for the past 10 months was %1 1, 500
Compute the taxable HL.R.A. and Gratuity of Ms: .Sukhnoor tinder

the hcad 'Saiaues for the asses smcnt year 2019—20 _ .(8)

b) Discuss the Tax slab rates (including cess) for an mdmdual for
assessment year 2019-20. Illur‘trate W1th examples }l; M



Iajesit aaring, the
financial ycar 2018-19, determine his total income for the assessment

year 2019-20 if he is (i) resident and ovdinatily resident; (ii)) not
ordinarily resident; (iii) non-resident.

(1) Profits from a busiticss in Bombay managed from London. 1,60,000

(11) Pension forservices.rendered in India but received in Burma, 15,000

(iti)Interest on U.K.Government Bonds, half of which is teceived in
India. 4,000

?S" TESITE RS UG the (OIS THESbs snimed Uy M1

(iv) Income from property situated in i’akislau received there. 20,000

(v) Past foreign untaxed income brought to India during t|1c previous
year. 7,000

~ (vi)Income from agricultural land in Nepal received there and then
brought to India. 30,000
(vii) Income from profession in Ken

; ya which was set up in India,
received there. 12,000

®)
M
or

a) Duri_ng the previous Year2018-19, X, a foreign citizen, stayed in India
for just 69 days. Determine hid residential status for the a
2019-20 on the basis of the following information:

(1) During 2017-18, he was not present in India but during 2016-17 he
came to India for 276 days.

b) Discuss the provisions relating to Income from other sources.
ssessment year

(i1) During 2015-16, X was present in India for 90 days. -

(11i)Duririg 2012-13 and 201 1-12, X was in India for 359 and 348 days
respectively.

{(iv) Earlier to 2011-12 he had: been re

gularly coming to India for 100
days every year. )

)

‘(ign;r-\'p\-;\r:w\f;:x —(r;x'r)“\.:\x;«\\rj\c income;, (b) tax payable for assessment year
2019-20. ?
Gross Salary

5,35,000 p.a.
Rent received

3,500p.m.
Dividend from Foreign Co. 1,000
Interest on S:Wings Jank Deposits 18,000
Interest on government Securities 1,000 -
Winning from Lotteries (Gross) . 4,000
NSC (VI Tssue) purchased during the year 10,000
Deposit under PPF scheme 1,50,000

He earned long-term capital gain of 12,000 on sale of gold jewellery
during the year. ®

Q.4 2) What are the provisions of clubbing of income relating to: -
i. Minor child i

ii. Spouse )
b) Explain the provisions relating to set-off and carry forward of
losses under the Income Tax Act, 1961. ... (@)

. or
a) Discuss the incomes that do not form part

of the total income under
.section 10 of Income Tax Act, 1961. :

- ®
b) What is a capital asset? Explain the term “capital gains’ under Income
Tax Act. Distinguish between short-term and long-térm capital gains

M
Q.5 Write short notes on any three of the following: x
a) Person ’
b) Agricultural Income
¢) Residential Status of an Individual
d) Gross Total Income (Sx3




of Rs. 25,000/~ per month throughout the

house was Ict out at a rent 1 throug! h
e hase of this house on which interest paid
' 5

rear.-A loan was taken for purcl
is Rs. 15,000/~

(b). Fill in the Blanks:

1. Previous Year is generally 8 period of , months
immediately preceding the Year.

2. Maximum of deduction of interest on capital borrowed for
repairs in case of a Self-occupied hguse property is Rs. : L
3. The' remuneration of Member of Parliament is und'er th
head _-

4. Agricultural Income in is -from Tax.

5. Children education allowance received from is exempt up
toRs. _ per month per child up to two children. (2x5=10)

wgm
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Semester Examination (Supplementary), . 2020
Course: BBA Semester: V
Subject: Income Tax Law & Practice Subject code: 301
Max. Marks: 75 Time: 3 Hours

Answer any five questions. All Questions carry equal marks.

Ql.

(a) What is the meaning of the term “Person” under the Income Tax Act,

" 1961. %)
(b) Explain in details the computation of income under the head “Income
from House Property” in case of a Let-out house property. (10)
Q2.

(a) What are rules for calculating exemption of House Rent Allowance
(HRA) while computing income under the head “Salaries’? ©)

(b) What are the Basic Conditions & Additional Conditions for
determining residential status of an Individual under the Income Tax

Act, 19617 ) ®
(c) How income of a Self-occupied Property is calculated under the
Income Tax Act, 19617 )
Q3.

(a) Explain the benefits of e-filing of Income Tax Returns for the
assessee and the Income Tax Department. ©)

(b) Whether the following are capital asset for calculation capital gains
as per the Income Tax Act, 1961 (Just mention Yes/Ni o):

(i) Jewellery of a married women

wyn
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(iv) Shates in a6 unlisted company

(v) Personal Car. %)
(c) Explain the difference between Short-term Capital Gain and Long-
term Capital Gain. (5)

Q4. Compute income under the Head “Salaties” from the following
details of Mr. Mohan who is employed in Maruti Accessoties Ltd.
(Delhi) as an Deputy Manager for the previous year 2018-19.!

" Basic Salary Rs.40,000/- p.m.
Dearness Allowance 50% of Basic Salary
Medical Allowance Rs.2,000/- p.m.

House Rent Allowance ~Rs. 12,000/- p.m.

(Mr. Mohar lives in a rented house and pays Rent Rs.10,000/- p.m.)

Transport Allowance Rs. 4,000/- p.m.
Hostel Expenditure Allowance Rs.500 p.m. per child for
two children

Perquisite of Credit Card (Taxable Value) Rs.20,000/-
Free mobile provided to him by the employer, expenses incurred by

employer on the same Rs. 10,780/-.
Besides Ram paid Rs. 1,000/~ as Professional Tax. (15)
Q5.

(a) Ms. Shyama aged 27 years has received income of Rs. 50,00,000/-
during the P.Y. 2018-19 which comprises of Rs. 20,00,000/- as Gift from
her father, Rs. 15,00,000/- as Gift from her husband, 14,50,000/- as Gift
from her Sister and Rs. 50,000/~ as Dividend from Indian Company. Is
she liable to pay tax on these receipts. )

agy

T e

Head. TR
(¢) Write down five incotes which are exempted from Income Tax as
per the Income Tax Act, 1961. 5)
6.

(a) Mr. Doms gold his house and wishes to save capital gain tax by
purchasing a new house. Explain him the conditions for availing
exemption under section 54 of the Income Tax Act, 1961. 5)

(b) What are the provisions regarding the clubbing of income of Minor
Child under the Income Tax Act, 19617 )

(c) Mr. Mohan is a Non-Resident in [ndia for the previous year 2018-19.
During this Previous Year, he has following incomes;

Rs. 7,00,000/-.
Rs. 1,50,000/-.

- Income from a House in Delhi
- Gift from his father-in-law
- Income from Business in U.K. controlled

from Mumbai Rs. 4,00,000/-.

- Dividends from an Indian Company Rs. 20,000/-

Find his taxable income of the previous year 2018-19. Give explanations
also. %)
Q7.

(a) Mr. Shiva has a house property in Mumbai. Compute Income from
House Property from the following details for the Previous Year 2018-
19. )
Municipal Valuation Rs. 2,00,000/-
Fair Rent Rs. 2,50,000/-
Standard Rent Rs. 1,75,000/-

Municipal Taxes (Unpaid) Rs. 2,550/-.

wyn
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V SEMESTER, BBA
END SEM SUPPLEMENTARY EXAM FEB 2020

BBA 302 FINANCIAL MANAGEMENT

Time: 3:00 Hokrs Max. Marks: 75

’ Note : All questions are compulsory and casry equal marks

Q.1.a. What is Profitability Index? s it a better criterion than net present'
Y ‘? b
value: (5 Marks)

b. A company is considering which of the two mutually exclusive projects it

should undertake. The finance director thinks that the project with higher NPV

should be chosen as both projects have same initial outlay and length of life.
and net after tax cash flows

The company anticipates a cost of capital of 107
of project as follows: :

Year .| 1 2 3. 1 4 5 6
Project | 210 40 g0 1 90 75 25
X | !
Project 210 222 w10 6 6
Y | | '

Compute 1) The NPV and PI of each project.
 would you recommend

2) State with reasons which project
(10 Marks)

alue weights in cost of

: value and market v
(5 Marks)

~ Q.2.a. Write short aote on book

capital. .
chares of Rs 1C each outstanding. These are

~ b. B. Ltd. Has 25,000 equity , .
. currently selling at Rs 20 It alst has 1,510 dzpentures of Rs 100 each bearing

FTo
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ling at Rs 125 in the

equity shares.

10%. Debentures are :}<3'l marke{
just been paid on )

Zt'id e be 5%

* a coupon rate of
dividend of Rs 3 per sharé has
Tax rate is 35% and growth rate is expe:

nital as per both book value Weigh

. B .
)

market value weigat.
ividend policy of a firm_

Q.3 a. Explain briefiy factors that infiusnce the ¢
is the advantage of stable dividend policy? : (5 Mar

4
§

)

£ Sl i, 4 . ” ¢ ’ .
b. The following information is aveiiate in iesvect of °X Ltd.:

Earning per share {EPS) Rs 10
Rate of return 20%
16%

And Required rate of return of =guity irvestment (Ke)
mcer «xordon Model if the firm follow

O 1

Find out the market price of the share

a pay-out of:
. 50% |
in.  25% ' | (10 Marks)

Q.4.a. Compare the net income and ne? usperating income approach approaches
to capital structure and firm valusation. (5 Marks)

and Cperating leverage with suitable
| (10-Marks)

b. Differentiate Firanciai Leverage
examples

Q.5. Write short notes o following: (5 Marks each
a. Motives of‘iibidiﬁg. cash by a compary
b. Wealth maximisation

¢. Economic Order Quantity
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V-SEMESTER-BBA

ksuPPLEMENTARY-EXAMINATION, Feb-2020

pAPER CODE-BBA 303
TITLE OF PAPER-ENTREPRENEURSHIP DEVELOPMENT

Time:
Note : Answer all question by Selecting any two parts from each

3:00 Hours Max. Marks : 75

questions.
All questions carry equal marks.

Assume suitable missing data, if any.

L ——

Q.1

Q.2

Q.3

[a] Explain the common characteristics of entrepreneurs.

[b] Distinguish between entrepreneur and manager.

[c] Describe the term of venture capital.

[a] What 1s a trademark? What benefits does a trademark provide

to an entrepreneur?
[b]What do you mean by Entreprencurship Development: Institute
of India (EDII). Explain its relevance in entrepreneurship

development. . .
[c]What do you mean by National Inst
Medium Enterprises (NIMSI\/[E). Explain

entrepreneurship development.

itute of Micro, Small, and
its relevance 1n

-

er theory of entrepreneurship.

[a] Critically Evaluate the Schumpet
MEs. Explain its role in the

[b]What do you understand by MS
development of Indian economy.

[c] What do you understand by business in
role in entrepreneurship development.

cubators? Describe their

-1
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Q.4 [a]Write the components of a business plan. Describe hoy 4
business plan serves as a blueprint for building a company.
[b]What are the different ownership forms available to
entrepreneur? Discuss any one form in detail. |
[c]Describe the relations between entr'epreneurship and econom;
development in India with examples. |

Q.5 [a]JWhat do you understand by- social responsibilities of a

entrepreneur? . Describe the . entrepreneur’s .  Soci
responsibility towards different sections of the society.

[b]What is the meaning and objectives of the Entrepreneuri

Development programmes (EDPs). - Clarify its relevance wi

suitable examples. | -

[c]“Dchloping Entrepreneurs, through Behavioural Scien

Interventions”. Analyse this statement with the help

McCelland’s Experiments.
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etween Q6 & Q7 of PART A\

penptany O :

On checkiog the Reuters screen, you ¢ the following exchange tale and interest 1ate qUOLES:

g-day interest Tates

g
pound 77716 - 5/16%
I X i

90-day forward rates

Spot rates
¥145.5731 — 8692/%

¥159.9696 — 9912/£

itrage opportunity 2715]
1,00,000 poutt
9519-36, and the SWi

¢) Canyou find an arb
direct

b) Whatis the profit per
0.9250-67- What is the

gs franc is quoted at $

(2.) Suppose
dat B25 2513-

quote for the pound in Zurich? [4]
an real is quoted R,0.9955—1.0076/U.S.$ and
quote for the real in Bangkok? [4]

the Thai baht is quote

(3) Suppose that the Brazili

986/USS. What is the direct
: A. The company is exportihg

dsto U
roduce the

chemicals O™ Eur :
e fixed overhead costs per unit
ents

04)Pacific Leather Goods 1td. 21 Ind
to Rs.1250 per unit. The paym?

5000 umi
;ﬁgf’s at a price of $60. The comPa?
items, The cost of chemical per it of leathe? good stan at
the freight cost, add UP

Comey
f%;f:t Rs.250 and other variable overheads; including 9
exports and jmports are due in six months:

The oy
ent exchange rates are as follows:
4 4699

RS-/EUIO 40 40
ts) the exchang® rate

S mop, s
ths (at the time of settlement of paymen

: "uireq to: .
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a. Calculate the loss/gain due to transaction exposure. [5]

: ransaction and operatin
'bf: Based on the following additional information calculate the losses/gains duetot P g SXPosury
if the contracted export price per unit is Rs.2,700:

The current exchange rate changes to

Rs./$:47.50
Rs./Euro : 40.80
* Price elasticity of demand for the company’s product in the USA\ is estimated to be 1.60.

* The Payments are to be settled at the end of sixth month. [5]

Q.5) Handex is an Indjan firm exporting handicrafts to North America. All the exports are invoiced in USS.
Handex is considering the use of money market or forward market to cover a receivable of $50,000, expected to be
realized 3 months hence. Handex has the following information from its banker:

Exchange rates : " Interest rates
Spot :Rs./$ : 43.65/44.00 3-mRs.: 9%
3-m forward : Rs/$ : 43.95/44.40 3-m$ : 6%

& Which option is better for Handex? [5]

b. Assume that Handex anticipates the spot exchange rate 3-m hence to be equal to the current 3-m forward rate.
After three months the spot exchange rate turned out to be Rs./$: 44.00/44.42. What is the foreign exchange
exposure and risk of Handex?[5]-

Q.6) An Indian Company has a payable of US $100,000 due in 3 months. The company is considering to cover the
payable through the following alternatives:

i forward contract, and
ii. money market, and
iii. option.

The following information is available with the company:
Exchange ;'ate: Spot Rs./$ 45.50/45.55

3-mforward 40/45

3-m interest rates (%): |

uUsS 4.5/5.0

India . 10.0/11.0

2|Page
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Call option on § with a sAtrikc price of Rs.46.00 is-available at a premium of Rs.0.10/8. Put 6ption on $ with a
ctrike price of Rs.46.00 is available with a premium of Rs.0.05/5. .

Treasury department of the company forecasted the future spot rate after 3 months to be: ,

Spot rate after 3-m Probability
Rs.45.60/8 . 0.10
Rs.46.00/% 0.60
Rs.46.40/8 0.30

You are required to
a. Suggest the best alternative of hedging

b. Explain why it is/it is not better to have the exposure unhedged. [5+5=10]

Q.7) Amico, an American company imported machinery worth Euro 1 million on April 05, 2000, from a firm based
in Switzerland. The payable is due in June. Amico is considering whether this exposure should be left open or

hedged through forward or option market.
The market rates obtained by Amicoe are:
$/Euro spot 0.9580/0.9590

2.months forward - 20/30

Tuly call options with a strike price of $0.9610/Euro are available at a premium of 0.005 $ per Euro. Youare

required to: s

" 2 Define the cash outflows for Amico if the exposure is left opén, hedged through forward market and hedged
. through option market. [4] :

b. Find at what expected spot rate will 'Amico be indifferent between
i. Open position and forward hedge
ii. Open position and hedge through call optioh

1

iii. Forward hedge and hedge through call option. [2+2+2=6] .

Part B: Case Study

persistent: indeed, it seems to be widening again. If this trend
it on the dollar’s rise against the Yen over the past
erience of the past decade or so suggests that

America’s current account deficit, though, is more
continues, American firms and politicians are likely to blame:
year, and to review their demands for a cheaper dollar. Yet the exp
devaluation is an ineffective weapon against America’s external deficit. _

cit, which stood at $30 billion in the fourth quarte

After narrowing a bit last year, the country’s current account defi
America had its biggest monthly trade deficit since

of 1995, hit $39 billion in the second quarter of this year. In July,

3|Page



| . 5/-

likely to hit $150 billion roughly ,
S
4me

whole is
for 1996 as 2 987. (Relative to GDP, the deficit hag

19‘8 7. On current trends the current account deficit 4166 billion in 1
A 1n the past two years, and not much below it peak of

deficit. And what a slide: from ¥270 i, 198 4
1o around ¥110. American manufacturerg mo:n

Shrunk a bit.)
Jed to dent the
still cheap against the Yen. Moreqy e, in

has rebounded

The dollar’s slide over the past decade ot SO has fai
asures the dollar is

¥80 in April, 1995. Since then, however, the dollar

that this js 38% above its low point, but by most me = o

trade-weijghted terms the currency has risen by only 9% leaving t40%

d to talk the Yen up and to jawbone the Bank of J apan inty

hope that this would trim both Japan’s surplus and Amep; -
Mckinnon, Renichi Ohno and Kazuko Shirono explaing

below its peak in 1985.

Untﬂ ]ast year Amen'can govcmments l]ad Oﬂen ﬂ'ie
Supporting its currency with high interest rates in the

deficit. The policy has been a failure: a study by Ronald
s will move towards their Purchasing Power

why.
the same in two countries, The

Traditional exchange rate theory says that in the long run, currencie : .
Parity (PPP) — the rate that leaves an identical basket of goods and services costmg ¥
nflation differences. Thus, if Japag paq .

original version of this.theory says that exchange rates adjust in line with i :
lower inflation rate than America, this would lead to a rise in the Yen. Japan’s experience, however, suggests thy

causation also runs the other way from exchange rate movements to relative price levels.
| e i

Q.1) The article mentions that devaluation can be an ineffective weapon while attempting to reduce the current

account deficit. However, common sense tells us that devaluation of a currency should make the country’s exports
ernal deficit. Explain how the two positions can be

cheaper, imports more expensive and thus narrow the ext

_' reconciled. [10]
Q.2) PPP states that relative inflation rates should determine the exchange rate between two currencies. On the o;cher

ha.nc?, thfe ﬁnc%ings of the study reported in the article indicate that exchange rate movements can determine the
relative inflation rates. Which view do you support and why? [10]

Part C
Q.1) What is RCEP ? What will happen if India joins RCEP at current terms and conditions ? [5]

Q.2) Describe the rationale for existence of Eurobond Market ? [5]
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1.

LIFESTYLE and how it is different from CULTURE? Discuss

What are Consumer Needs, Wants and Desires? Explain each with irsuitab\e rﬁarketing

examples (3 + 6) Marks

a. What are differe
What is personality? What are different characteristics of personality (5 Marks)

Explain with suitable examples the various components of Freudian Model of

nt type of consumer needs, give suitable marketing examples (6 Marks)

a.

Personality. (5 Marks)
b. Give TWO marketing examples where brand personality is used (5 Marks)

What is consumer attitude? What are different characteristic of attitude? For formation of -
sttitude towards a product, what type tools marketers use? Write the equation for Fishbein’s

Multi Attribute Model and explain each component. (2+3+5+5) Marks
b-culture? What is

g to consumer behavior literature, what is a culture? Whatis a su

Accordin
3 examples of sub-cultures and how

2+2+249) Marks. . ,

marketers use these for promoting brands ( :
butes of Opinion Leaders? How can

Who are Opinion Leaders? What are the different attri
marketers use opinion leaders strategically benefit the brand? (2+3+3) Marks -

Draw Roger’s Innovation Adoption Curve and explain different stages of it (7 Marks)
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BBAM306 - ADVERTISING & BRAND MANAGEMEN
Time: 3:00 Hours - | Max. Marks: 75
Note : Answer questions 1 to & with reference to the case study.
Internal choice is given in question 6.
Assume suitable missing data, if any.

Dabur India Ltd. is one of India’s leading FMCG
Companies with Revenues of over Rs 8,500 Crore &
Market Capitalisation of over Rs 72,500 Crore. Building
on a legacy of quality and experience of over 135 years,
Dabur is today India’s most trusted name and the world’s
largest Ayurvedic and Natural Health Care Company.

Its vision is to be an organization "Dedicated to the;

health & well-being of every household"

In the oral care category, Dabur has the following brands:

Dabur Red Toothpaste:

One of the Best Ayurvedic Toothpaste Jor
Dabur Red Paste is a unique blend of traditional Indian
medicine and modern pharmaceutical technology bringing
out the best of both. This side effects fiee, effective
formulation is useful for maintaining oral hygiene gnd
_keeping the gums and teeth healthy. Dabur Red Paste is
packed with the power of 13 active Ayurvedic ingredients

like Laung Pudina & Tomar among others that keep all your
dental problems away. Dabur Red Paste has been clinically tested for reduction in

Bad Breath & Pyria

plaque , gingivitis & bad breath
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GFoOod NEAITn INCINAES SIFOUR DG ey
natural care with Dabur Lal Dant l\'lnninn /\n /\y\uvr(l

Toothpowder gives you strong tecth and healthy gums.

roduct, Dabur Red

Dabur Mcswak - One of the Best Herbal Toothpaste for Sensitive Teeth
Dabur’ Meswak is scientifically formulated herbal
toothpaste with pure extract of the Miswak plant ‘Salvadoré
Persica', the famous 'Toothbrush Tree' used for centuries.
The astringent and anti-bacterial propertics of Meswak “nlw‘,
helps reduce tooth decay , fight plaque and prevent gum I;'@i iy
diseases. Miswak Herb is a rare, potent, priceless, wonder | 'L\f’(.m‘fl‘
herb that delivers incredible Dental Care benefits. Dabur
brings this wonder herb in the form of Incredible ‘Meswak'

toothpaste. Meswak toothpaste is scientiﬁcally proven to reduce tarter & plaque ,'

fight germs & bacteria, prevent tooth decay & bad breath ensuring healthy gums &
strong teeth. The product has a unique flavour that connotes freshness and can be

used for complete oral care.

Dabur Babool - Toothpaste for Teeth Whitening

Babool Toothpaste is natural toothpaste packed with the
benefits of Babool extract 'Acacia Arabica'. The Babul
herbal extract in Dabur's Babool Toothpaste helps keep your
gums healthy and teeth strong. The tooth paste has’ the
natural power of T3 (its unique 1-2-3 action gives the teeth
effective protection and tightens the gums) TI (its
antibacterial power fights against germs) & T2 (it forms a
protective layer over gums and protects it against germs).

Dabur has also launched a variant to Dabur Red in the form of Dabur Red Gel

". Toothpaste which emphasizes on freshness of breath as its USP.

2. Develop a brand portfolio matrix for the Dabur Oral care category
with segments identified from the case. What role does a portfolio

matrix play in brand strategy? (15) [Assume missing data if required.}
b. Would it be wise for Dabur to launch a toothbrush? What about
an all-natural bamboo toothbrush or a premium electric
toothbrush? How do these decisions impact the brand’s credibility?
(5 marks)

. What are the various brand naming strategies a brand may choose

from? What are the risks involved in each strategy? Discuss the brand
architecture and brand naming strategies of Dabur oral care. (15)

.'What are the advantages and disadvantages of the various media

channels? What media channels would be best suited for
advertisements of Dabur toothbrushes, given that this will be a new
product? (10)

. What considerations must be kept in mind while choosing a celebrity

endorser? Whic_h celebrity could be a good fit to endorse Dabur
toothbrushes and Why? (5)

. Write short notes on the following: (Any 5) (5 marks *5 = 25)

h) Creating Advertising Budgets

i) BCG matrix and its use for portfolio analysis
j) Ethical issues in advertising

k) Pros and cons of a Brand extension versus a New brand strategy
1) Brand Stretching i

m) Brand Laziness & Brand Loyalty

n) Developing Advertising objectives from Brand Objectives
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1. Write a short note on the fbllowings: | (5*5 =25 marks)
¢ a) Collective bargaining ' : S
" b) Quality circle

c) Strike; lockout and closure

d) Code of wages bill, 2019

e) PF, NPS and Pension

9 Discuss various modes of workers participation in management.
(10 marks)

Critical analyze these methods of participation.

3. Critically analyze health, safety and employee welfare related
(10 marks)

provisions of The Factories Act, 1948. '
4. “Dunlop’s system model provides fundamental framework to modern
ement. (10 marks)

Industrial relationsf’. Elaborate the stat _ |
5. Discuss scope, significance and utility of Industrial Employment
' ' (10 marks)

(Standing order) Act, 1946. |
ant changes in recent

6. ‘Industrial relations have undergone signific
th relevant examples. (10 marks)

" times’. Discuss the statement wi



